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83 T/E — oifiefwes / SCIENCE

I rewTal TS EHSSTen GDILILs6T /| Instructions to the Students :
reweurser  shisdr Gsie] nHeped &lugd odemeury Csiey
udeiamsenar Question Booklet wHmidb OMR gmafld DghHEser
@gHIS&SIULL UStermmm slLmigefld erps Couar(hibd.

Write your eleven digit Register Number on the Question Booklet as
allotted in the admission ticket in the space provided at the top right
corner of this front page.

@nbs edammsgmer GearLmons eply  eussLLL(heTargl (Sealed by
reverse jacket). Briser Gsiey < rbll&@EHLOUTYG eUOEMSL LIS
ersog 190y Hpss  CouarpHib. olammssener o drerL&&lw
@S UssmSERD sllurse b GAMssTULULTOQID 2 6TeTsHT 66
FMUMT&ESaLD.

This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of
commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

OMR gratser saflsseallums eupmsiu@ib.

OMR Sheet will be provided subject-wise separately.

@ns dammssmar Gam@liy eperm LU@dsarns ANggderg - senflgb,
SIMeSlwed wHMID Fops imleSluie.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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83-T/E ( RF/RR/PF/PR/NSR/NSPR )

5.

eaiGeum Yflellgud 40 clarmsser CarhiEst UL (hererg. Grsswns

120 S @TT&&ET 2 GTeTay.

(i) saflsbd - ellerm eramser 1 to 40

(i) Plewed - e ereairaer 41 to 80

(ili) Feps Pleflud - eflearm erarser 81 to 120

40 questions are provided against each subject. This set of Question

Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(ii) Science - Question Numbers 41 to 80

(ii) Social Science — Question Numbers 81 to 120

ealCeumm ofamaillh@hd @ WHUCLET UPRISILIHLD. Dmearsg)

cderreilh@b sLLmwuwrg edlenlweilss Couerr(hib. eeubleumm silwmer

demelh@b 6@ WwHIGLET eUPBISILHLL. Seuprar el &@hsE

(negative marks) erdliwenm WSICLIEGTSET @6 ane.

Each question carries one mark. Answering all the questions is

compulsory and each correct answer will be awarded one mark. There

will be no negative marking for wrong answers.

Careiler Curg seualss Coudrigiamey

a) eNeTTSSTENET SEUATLOTEL LigSgILI LITTES6LD.

b) eulLms Wppewwing B, SmUL oG B euement e
2 el w erpgICasmaels LwemLhissend. OMR gmeaild eul L Hg
Blyiigd  Gurgl, seuerors BHlyiin Ceuar(®b. Blyindw  Gerert
g wrHPCeaur, &f CeuauCsr, Ceaum FmssosCerm @L D
QUMISED Fnl TG
TDSSSSMLB) : 20 b Memmeliparear sflwuner aflep g6
auflenguiles oétemr A, B, C, D @& C ererusns @mLier,
Qarhssiiul_(herer Bren@ el Lmisalles C erern er(pdg 2 erar
Ul LFms B g sy Hip ew Csrare erpgCsmeamed
BHlpadl_ajb Gauar(pib.
ferm eretor : 200 A B © O (@8 aTOSs&ST_H wL(HGD)

o O @ O

c) OMR greaseamer wL&5GeuT, Cagbd elaerellEsCour  gnlmg.
Sjeueurm Casid eflewereilsg WHUICLGTHET GODHSTD ASDHS,

renrelser srem GuTmLICUbes CoueT(HLb.
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83-T/E ( RF/RR/PF/PR/NSR/NSPR )

During the examination,
a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ ® © @O (Thisisan example only)
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

@@ oemeinh@, eqeathhsEh Copuul L (circle) eul L migemer
Blyhdernéd, «@ips len  geuprersns &@md sHE WwHUCLT
QaThSSIUL TS/ ULPHISLILIL TS|

If more than one circle is shaded for a given question, such answer is
treated as wrong and no marks will be given.

LOTERTEUTEH@HD, s Sarsreniliumerhd OMR gmafley =igmblgen
gISsILULL @)L hiseafled evsGumiub @ Caier@Hb.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10. wrameliser Csie] ussejler GealCumpeisnE erurs OMR
e ggmeTsenar (subject-wise) u@SHeurflwunsg sflunrsg
Careumerilb eliLien &85 Couam(Ib.

Candidate should return the subject-wise answered OMR Sheet to the
Room Invigilator before leaving the examination hall.

11. Gsmedler Gumg wreweuseT Shis@pen_w (Rough work) Geum
@Mlliysamer cllarmssreflen sanLdl LG5550 shHbsar egssiilL
@Lsdle wlHGw erupds uniss CouaT(HID.

Rough work can be done in the space provided at the end of the Question
Booklet.

12. wreweliser &med@&GLl LT, eanaGuél, vl Sigsmyb wHmb @) e
9p Wereren o Lisremhigeer Carellen Clumpg 2 etCer er(hsg CFae
Sia@Igludlcbanen.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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41.

42.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )
urLLb : gmleSluied
Subject : SCIENCE
Eps sramib wHot QuPrs QFTLIsERESTET Hrem@ 6lenL & @her
silurer el gsmar @il s CsibsOsg Car®dsiul (Herer
OMR grafléd &Ly Hdog Bo cuamen e CsmearL erpg Csmome
GO el L sens Hlriys : 40 x 1 =40
Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and shade the correct option in the
OMR Answer Sheet given to you with a black / blue ball point pen.
40 x 1 =40
e &Mhss ST SS5FHleusdlen gl uier GCeuamed Gguiujbd s(mel
(A)  Werermsdl (CegerCGriii) (B) e &CLhm

(C) et Guom_mir (D) e NSl

The device that works on the principle of electromagnetic induction is
(A) electric generator (B) electric heater

(C) electric motor (D) electric fan

30Q WlemrgenL o aTem ¢ Wlem eilemd@ HMIDL 6Q 2 drer Wetsl G5 IV
urlcflyer  Ggrei  @evewriiled @Qevemssiiul (heTerg  ererLg
ULgdle Gasrhssiul(herargl. eraid® Wer &Hold GCeaudsrii L
Qrsg Wlergmyn

AWM
6Q 30 Q
I I
K
—1[1[1]! —®- (0)—
ov =
(A) 4A (B) 36A
(C) 0.25A (D) 0.6 A
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83-T/E ( RF/RR/PF/PR/NSR/NSPR )

43.

44,

An electric lamp whose resistance is 30 Q and a conductor

of 6 Q

resistance are connected in series to 9 V battery as shown in the figure.

The total current flowing in the circuit is

AWM, 7
6Q 30 Q
1 I
K
L1 1] ® (o)—
ooy - -
(A) 4A (B) 36A
(C) 0.25A (D) 0.6 A

G smwsoailear o U Lpg seufled sl euamenTd LUl (HeTeng).

crlleretdy @)g)

A) eeafleow YrdHudsdng

(B) @&Mwé& sdlisamer emmbidleneanmsde

(C) 2 Cors flwrarsSledl(mHg &hsse

(D) <dls deuliugens 2 Merasng

The inner wall of the solar cooker is painted black because this
(A) reflects light (B) converges solar radiations
(C) prevents from rusting (D) absorbs more heat

e aflergdlaperer Wlerr @enpuded LweTLBHGSILGID 2 Gamasd
(A)  OTRISETED (B) L6l

(C) Hésa (D) &CrmdluLb

The metal used in the filament of an electric bulb is

(A) manganese (B) tungsten

(C) nickel (D) chromium
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45.

46.

47.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )
M Oecieuss smOlTE sbAWe s&meT sMhsll LosdHd s&Hmr LD
Curgl grerLliul L Wensmpsdlen SHang eeubeumm wpeapwb Geuamm)
LTS
A)  @uewr®h SFpHflsEnsE D&
B) @@ spvflss dne
(©) undl spHélsEE YUnE (ST &PpDHEl)
D) premdled @ LkIG sPHSAES UG
A rectangular coil of copper wire is rotated in a magnetic field. The

direction of the induced current changes once in each

(A) two revolutions (B) one revolution

(C) half revolution (D) one-fourth revolution

@ Ceoardler @elw g +0.50 m erald ibs Ceeardler <,HmO
HmID Cleerdler cuamns

(A) +2.0D wpmibd GHelbeerev

(B) +2.0D whmibd @WGleveev

(C) -2.0D wpmib &LW6eeren

(D) -2.0 D wpmib Gelbevemev

The focal length of a lens is + 0.50 m. The power of the lens and type are
(A) + 2.0 D and convex lens (B) + 2.0 D and concave lens

(C) -2.0D and concave lens (D) -2.0 D and convex lens

@ Wer &HMléd WenseLew WwrHoll LweTL{Hmn &mall (FTserib)

A) Geumebl_ L Lt (B) <ibLSL LT

(C) smedeuesTT LSL_LIT (D) MCGuwmevLL

A device used to change the resistance in the electric circuit is

(A) voltmeter (B) ammeter

(C) galvanometer (D) rheostat
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48.

49.

@M oMy &maflar o eredrer sMhsll Leods Camhser @) eneamruimen

CrrGasmphiaer augale 2 drers. QsHE& sTrewd euflFsH(meflenr o cro drer

&MhGLIL|GLD
A) Wsejb Hsb (B) &w& Frreng
(C) uUsmelwbd (D) Wlerenyssmed o (heumssLliLL L g)

The magnetic field lines inside a solenoid are in the form of parallel
straight lines. The reason for this is, the magnetic field inside the solenoid
is

(A) very high (B) uniform

(C) =zero (D) produced by electric current

@@ Galdoadle Wwsiu Gelwbd F wpnib geflaewwd O @ uiled
QUITBET eSS LT 2 L m@L WibLgSler semend HMID 46T6]
(A)  wrulbub, Cerrearg wHmb WsL Guflug

(B) o awmend, sevavdipreng whmid Sbluig

(€) wrwulibub, semodprearg LHHID fHlug

(D) 2 awmen, swadprearg womb Wesh Auflug

The nature and the size of the image formed when an object is kept

between the principal focus F and optical centre O of a convex lens are

(A) virtual, erect and enlarged
(B) real, inverted and small size
(C) wirtual, inverted and small size

(D) real, inverted and enlarged
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50.

51.

52.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )

LOletr Hmene QWES YHDOMS IHMILD &(Hed!

(A)  Werermsdl (CeerCriii)

(C) 2 @i WlergeLd

(B) @Mw Wlerseld

(D) Wesr Gome_mir

The device that converts electrical energy into mechanical energy is

(A) electric generator

(C) drycell

@D GTEmLIg @S SI D60 & A ELD
(A)  Wer 2S5 Coumiim(

(C) WerGarmi_L_Lb

‘Ohm’ is the SI unit of

(A) electric potential difference

(C) electric current

(B) solar cell

(D) electric motor

(B) e senL

(D) e &emio

(B) resistance

(D) electric charge

EC Qamr&siul L Sl Lamarew e :

serl_gL1 Clum(mer aafl allevse eremr
P 1.52
o) 1.44
R 2.42
S 1.33

Thg 261l s&de eafluflear Ceusd Wga|h Feh ?

(A) Q

(C) S

(B) P

(D) R
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53.

Observe the following table :

Material medium Refractive index
P 1.52
Q 1.44
R 2.42
S 1.33

In which material medium the speed of light is very high ?
(A) Q (B) P

€ S (D) R

SIMWISSH(H 2 MU ,HME eLpeLD

A) Siemissm Werey cllener

(B) sL@UUBSSLIULL Sami&s Were] Csriellaner
(C©) Geuliubd 2 pelener

(D) Siam&am Qaanta| eilener

The source of energy in nuclear power reactor is

(A) nuclear fission reaction

(B) controlled nuclear fission chain reaction

(C) exothermic reaction

(D) nuclear fusion reaction
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54.

55.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )
EC Qar@ssiiul Leapdled @Galbeeardler qm L
A) ealsspepsmer afliflouenLwé GlaFwiub
(B) @rmiser Sigsgib wHmb Bheled Caallwugrsalb @ ms @D
(C) oamen wHMID Cryrer WbLSMS 2 (HeuTsELD
(D) grmaiser Gaoalwugrseybd wHmID BHeHD HiqsgIb @ (M ESD
One property of a convex lens among the following is that, it
(A) diverges the light rays
(B) is thicker at the edges and thinner at the middle
(C) forms real and erect image
(D) is thinner at the edges and thicker at the middle

Sbfled LHNID STrsgHLeT edearfbg 2 Uy LHHID By 2 (HouTsEh

CeiroLd
A)  S@dlalub wsamaeh (B) smly <u&5m&(h
(C) @b A& (D) Comguwib <&ama(

A compound that reacts with both acids as well as bases to produce salts

and water is
(A) aluminium oxide (B) copper oxide

(C) iron oxide (D) sodium oxide
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56. yGrrluermedler (Propanal) &L L ienwolin] eumicium(p)

H H H H H o
(A) H—IC—IC—IC—OH (B) H—cI:—(I:—y:—OH
honon hon
N o
(C) H—CIJ—CID—C=O (D) H—(Ilj—ﬁ—%l—H
H H H O H

The structural formula of propanal is

H H H H H o
(A) H—IC—IC—IC—OH (B) H—IC—IC—g—OH
HOHOH o
Ll P
(C) H—Cll—CID—C=O (D) H—(Ilj—ﬁ—%l—H
H H H O H

57. ‘“seafllohisefler LiewT g Sjeubhdlen oiamieTans@nds@ gl Saflo auflans
pemudled wrHoenLdlermerr’ TG el Slanw Qrdbgeur

(SIMlellSHeum)
A)  BluyCeer (B) Quesr_edesL
(C) CLmufeiuwim (D) Qamerm Gmeved

“Properties of elements are a periodic function of their atomic number.”

This law was proposed by
(A) Newlands (B) Mendeleev

(C) Dobereiner (D) Henry Moseley
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58.

59.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )
Ep Qarhissriur L Geudl alevarsamens seuafl :

Fe + CuSO4 — FeSO4 + Cu

Zn + FeSO4 —» ZnSO4 + Fe

Cwé Garhissuul L Fweruriiged o Corshiseaier ellanerdnefler

@oiE, euflens
(A) Zn > Fe > Cu (B) Fe>Cu>Zn
(C) Zn > Cu > Fe (D) Cu > Fe >Zn

Observe the following chemical reactions :

Fe + CuSO4 - FeSO4+ Cu

Zn + FeSO4—> ZnSO4+ Fe

The decreasing order of reactivity of the metals in the above reactions is

(A) Zn > Fe > Cu (B) Fe>Cu>Zn

(C) Zn > Cu > Fe (D) Cu > Fe >Zn

@ saflbsdear ey erarr 20. peiar gaflo cuflans < Leumentuied
@Bs saflbd sTaRTiLBID ST

(A) 2 (B) 8

€ 4 (D) 3

The atomic number of an element is 20. In the modern periodic table, this

element belongs to the period
(A) 2 (B) 8

(€) 4 (D) 3
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60.

61.

62.

Quefernr s Lenwblibed 2 drer hemll enerrliLgem whmibd @)yl
Yenenriiseflen cramantlsens pevmGul

(A) 3 woHmb 9 (B) 9 woHmibd 3

(C) 6 wHmwbd 6 (D) 7 womid S

The number of single bonds and double bonds present in the structure of
benzene molecule respectively are

(A) 3and9 (B) 9and3

(C) 6and6 (D) 7and5

Gemquid sriuCer Biss eant Cpr @Gearmfls dlewsger ellenear
iy Curg GesaflelliL@b eumy

(A)  &STTUGT-60L-pE5en&(h) (B) eBLre6-enl-,&ena (h
(C) emamL_sgen (D)  @&Cermiiler

The gas liberated when sodium carbonate reacts with dilute hydrochloric

acid is
(A) carbon dioxide (B) nitrogen dioxide
(C) hydrogen (D) chlorine

QWSS L @Quihens eurujedler (p&Hlu LGSl Qummer
(A) Gy G B) rFsCsen

(C) WBsCsenr (D) yGrmGuier

The major component of compressed natural gas is

(A) butane (B) ethane

(C) methane (D) propane
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63.

64.

65.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )
e 60l bev Frener HeuliLy euaTenTons WIHMID CUmHeT
(A)  GememTTOL BT
(B) g B
(C) Gamgwib eanl gréama® Slreuld
(D) @evylienu Bir (Gastric Juice)
The substance that converts blue litmus paper into red colour is
(A) lime water (B) pure water
(C) sodium hydroxide solution (D) gastric juice
o Caomsgdlernr FoaLb STHSH®mET Soupder s STGHISSHETTS
LIHOH LWeTUHID (Lpenm
A)  sT&Cerag e (B) eumssed
©) ©@@nss® (D) wlararh LGy
The process used to convert sulphide ores of metals into their oxides is
(A) calcination (B) roasting
(C) reduction (D) electrolysis
Qemsfar whHmid aasCarmlansGaaier QUTgeurar ppe&amm eumiium()
(A) CeHs (B) Ce Hig
(C) CesHi2 (D) Ces Hio
The common molecular formula of both hexene and cyclohexane is
(A) CeHs (B) Ce Hig

(C) Ce Hi2 (D) Ce Hio
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66.

67.

68.

enear srepamen @eeuder wper Cumemm gl (Hib @eppuied smeamTiiLi(hibd

Slevid
(A)  Gwgsamuis <l (B) < sevmadlsd isleld
C) A& sifeld (D) @rdlyé blaibd

An acid present in the stinging hair of nettle plant leaves is

(A) methanoic acid (B) oxalic acid

(C) citric acid (D) lactic acid

weflg 2 Leled smiGuremant Gy, Yrsb wHmib CE&TLiL s&g155meT
aueriEslens IHDSSDHE 2 LB SGID anmrGmer

A)  QLevGLmevGlLymesr (B) i_fMermedlesr

(C) @ eraade (D) ewgrr&ESlen

The hormone that regulates carbohydrate, protein and fat metabolism in
the human body is

(A) Testosterone (B) Adrenaline

(C) Insulin (D) Thyroxin

@ @ mLLempuild euerpd ClFguemer STy emeussls UL (HeTergl. e
BT &@h&E AS6T DBl @ Gp@GeaTssl gndl meussiLbhiSng.
Sibs CFiguier Goed Lmsbd e afsdaw Crrsd eumeardngl. ©)s)
A) Ceudl priLibd (B) eeafl BrlL b

(©) yedl BILLb (D) B prLLIb

A pot that has growing seedling is kept in a dark room. A burning candle is

placed near it for a few days. The top part of the seedling bends towards

the light of burning candle. This is
(A) Chemotropism (B) Phototropism

(C) Geotropism (D) Hydrotropism
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69.

70.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )

Gemeu@pd GQum@plsefier 2 uilfl fenge| QUL sEEL6T QT w

gflurer siNsans

(A)

(B)

(C)

(D)

SHMILILD Gl GuhanswursCel wM&PHE LS FnlgLimel

Ghblene  weaT_sdaarer LG

clleneralls @b

o> WiflsErsE — Shig

QoucuCeumy ugblemoseailes SniE damaralsss gniqu  Goudlll

Qumpellen L_T5H SsreeD

SOHMIL LDSEH D F& BT hSTE @) (HEW0

The correct statement with respect to biodegradable substances among the

following is that these substances

(A)
(B)
(C)

(D)

Ledler Lmedlwied @eribumss wpeanpuller sflwrer auflens

undergo recycling naturally in the environment

harm various organisms in the ecosystem

increase the density of harmful chemicals in different trophic levels

remain inert in the environment for a long time

(A) warhs Corsams, sMHESMNsSs0, s, &

(B) olens, &M, &MSSMNS550, wWaTHS Carsamns

(©) &, lens, waIHS Corsams, &HSSMNSSHD

(D) w&arhs Corsams, smESMNsSS0, &, s

The correct sequence found in the process of sexual reproduction in a
flower is

(A) pollination, fertilization, seed, embryo

(B) seed, embryo, fertilization, pollination

(C) embryo, seed, pollination, fertilization

(D) pollination, fertilization, embryo, seed
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71.

72.

73.

Coemauwpn Crrmsafled Wemalersd@ wHmD Wler eHfMudler Couanaenwl
evelilFengs (Carsdleow) Blmss Wenrsmrseans CallliusnaE @@

T(H&ZI&6&TL(h
(A)  LHESeIE (B) ©@psgsé Camer
(C) wmiLIwier (D) wmCHT&SLD

Saving electricity by switching off unnecessary work of lights and fans is

an example of
(A) refuse (B) reduce

(C) reuse (D) repurpose
QUL algel UFmsblp elengsamer 2 aLw ULLrals GFgewubd

[ RRyy | wpmib s@mpadu clamssamearwenluwl WEhseThln Ll L rewils
Asgewub [ 7YY | seoudernd Oeuwbd Gurg F, soerpapuie

o @TLM&LD eNlensaHeT

(A)  eulLeugeuld HMID LFmF Him edlensser
(B) &@mmdlw bHmib WwEhser Hin cllensser
(C©) eulLaeugaid HMID WERFETHID ellangsaT
(D) &@rdw wHnb uFms Hip ctlensser

If a round green seeded pea plant [ RRyy ] is crossed with wrinkled yellow
seeded pea plant [ r7YY], the seeds produced in F, generation are

(A) round and green seeds (B) wrinkled and yellow seeds

(C) round and yellow seeds (D) wrinkled and green seeds

o NUIEUTSS o mILIL|&eT

A) @G digwrer algeuamwbliL) LHMID Gr Gewuour@b 2 eLwg)

B) &Cr a&lgwrer eugqeiamwiy wHombd GCeumpul L  Cswdurhibd
2 ML)

(C) Geupul L epwiiy wHmb @Gy bewdurp 2L wg

(D) Geumpu L ewwiiy wHmibd Ceumuil L Ceweurh 2 evLwg
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74.

75.

76.

83-T/E ( RF/RR/PF/PR/NSR/NSPR )

Homologous organs

(A) have same structure and perform same function

(B) have same structure and perform different functions
(C) have different structures and perform same function

(D) have different structures and perform different functions

weaflgaier o Leller Lo UTsrsald(hhg @Isssms QUSHDGSE

Qararr(hel(Hhd @TSsSs &L TUlSET
(A)  sLeger (B) shHgIdEeT

(€) menyuired e (D) SAenyser

The blood vessels that carry blood from all parts of the human body to the

heart are
(A) arteries (B) capillaries
(C) pulmonary arteries (D) veins

sreurhisaigierer Sflsliiguirear fany QeualGCubmLd wpevm
A) Brrellt Cumses, B) el Corsens

(C) &oundlssed (D) sL&s LB
Plants can get rid of excess of water by this process

(A) Transpiration (B) Photosynthesis

(C) Respiration (D) Translocation
@uanr(h prbY CedsEnsE @ent Cuujerar @an Gleuaf

A)  Cremgenyui( (B) < &aumerr

(C) evwsaTTLicn (D) Q&6 2 L ibyy
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7.

78.

79.

The gap between two neurons is

(A) dendrite (B) axon

(C) synapse (D) cell body

&(meureng sTuien @Qr&EsSHe0l(BHg 261l L& FSgssameTubd Cumib LTS
(A) L &@GLpTw (B) @pLenL L1 evul

(C) sl (D) Qariiyer Gy

The embryo gets nutrition from the mother’s blood with the help of a

special part called

(A) Fallopian tube (B) Ovary

(C) Uterus (D) Placenta

wafls year @eriCumss wear osdHed Snbir wHmb &Hlbsamidsser
Qeuailau(meugharer Curg el

A)  Ampr ypeuld (B) Smbr @Lpmi

(C) oNbsamis @il (D) Smbr evny

The common passage for both sperms and urine in human male

reproductive system is
(A) Urethra (B) Ureter

(C) Vas deferens (D) Urinary bladder
&Cp OasrpssuulLoasaild B opeuem  Sewilear  Geuame
DD TEHG)
(A) Possy peoy vy HrLEH Hewndng
B) B @ elureuddame
(C) Osrassaflar cuetisdlanw daflsss slidpg)
(D) STeUTEISER&@E FrdSsSamad jaflEdng
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Which of the following is NOT the advantage of water harvesting

structures ?

(A) Recharge the ground water

(B) Water does not evaporate

(C) Provide breeding grounds for mosquitoes
(D) Provide moisture for vegetation

@malfler  eumpsensuiled  GumId  @per  JEUIBISET  HDES

S®OPMDESE, SLESL LI(HeuSDme. STTERTD enay
(A) UFDUET LIGHTLSET (B) Qupm&Lasmerr LT ger
(C) @M@ LIGTL&ET (D) e(HmI@WD LIGTL|&ET

The experiences of an individual during its lifetime cannot be passed on to

its progeny because they are
(A) inherited traits (B) acquired traits

(C) dominant traits (D) recessive traits
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